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2/17 - That pesky 3.5 #38 still could use some discussion. & 11'_f|
The part ¢ should be done the way [ originally wanted to do part 5. Hare's how to attack part ¢:
;s . g ax |
simx  if x=0 sinx if x=0 Is
sin |2 = . _ =y _ ,since sine is odd. - ‘
sin(-x) i x<0 |-sinx i x <0 g 1%

For sin x| in part &, this approach was not very fruitful, because sin x changes from positive to negative every = radians. But when
itsan x| INside the sine function, you just have two intervals to worry about. My instincts on part b were correct for part ¢, but
not for part &. The taxtbook’s approach to part & cleverly followed the trick for part a.

Hat-tip to Terry Shao for asking this one early and then asking about it again.
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The bakery’s income is a function of the number of loaves of bread it sells.
The number of loaves of bread it sells 15 2 function of the amount of flour usad.
The amount of flour used 1s a function of the amount of wheat grain purchased.
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